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a. A(0,3); B(1,4); C(2,1) ; D(1,95) et E(0,82).
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b. F(2); G(0,4) ; H(2,8) ; J(1,3) et K(3,1).
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c. L(0,05) : M(0,08) ; N{0,13) et P(0,075).
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d. Q(5,42): R(5,47); 5(5,39) et T(5,485).
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a. 8,7 3,15 f. 5,8 5,08

b. 12,13 12,9 g. 8,04 8,046
c. 13,21 13,210 h. 12,12 16,12
d. 0,19 0,121 i. 7,07 7,007
e. 5,94 6,88 J. 10,022 10,2
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a. 7,09 <71 <21,25<21,2 <« 21,22 < 27,3.

b. 37,15 = 37,2 = 37,16 = 37,016 = 36,8.
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3,6; 3,005; 3,15; 3,05; 3,2; 3,015.
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705; 789; 850; 712 ; 730; 825; 790.
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Belhocine : https://prof27math.weebly.com
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